1) Determine o número de oxidação do elemento em negrito:
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GABARITO

	H2S2O3: +2

	NaIO4: +7

	CHBrC(F: +4

	HP2O73-: +5


	HBrO3: +5

	Ca2SiO4: +4

	Ba3(PO4)2: +5
	HSO41-: +6


	Zn(IO)2: +1

	HCO31-: +4

	A((BrO)3: +1

	HSbO42-: +5


	HSO3-1: +4

	Mg(C(O4)2: +7

	CaO2: -1

	Fe2(SO4)3: +3


	SiFBr3: +4

	C(2O5: +5
	MgH2: -1
	H3BO3: +3

	Ag2SO3: +4

	NaH3P2O5: +3
	Pb(SO4)2: +4
	Co(OH)3: +3

	O3: 0

	H3CO31+: +4
	Mn2O7: +7
	Sb: 0

	HSO21-: +2

	MgMnO4: +6
	K2Cr2O7: +6
	CaMgP2O7: +5

	H2O2: -1

	Cu2O: +1
	K2O4: -1/2
	SrO2: -1

	As2O3: +3

	Fe(OH)3: +3
	C3H8O: -2
	MgSO4: +6

	Na3P: -3

	KIO4: +7
	NH4Br: -3
	(NH4)2SO3: +4

	NH4NO2: +3

	CaOHC(O4: +7
	(NH4)2S: -2
	CH2O: 0

	HC(O: +1

	HC(O2: +3
	HC(O3: +5
	HC(O4: +7

	Hg(OH)2: +2

	HgOH: +1
	Pb(OH)4: +4
	Pb(OH)2: +2

	HNO3: +3

	HNO3: +5
	NO31-: +5
	H2O: -2

	C6H6O: -2/3

	C12H22O11: 0
	C4H9C(: -2
	C6H3C(3: 0

	C6C(6: +1

	CH4O: -2
	C6H12O6: 0
	C3H2O3: +4/3 


